Apartment in Marsascala RE/MAX



Reference No: 240231001-673

Marsascala, South



€276,500

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 134

Bedrooms: 3

Apartment - For Sale - Marsascala

MARSASKALA - APARTMENT (semi-finished 134 SQM) Located in a quiet area yet close to all amenities, 5 minutes walk from the beach. This accommodation situated on the second floor to be served with a Lift comprises an open plan Kitchen/Dining/Living having 2 Balconies, a Bathroom, 2 Double Bedrooms one with a Balcony and a main Bedroom also with a Balcony and En-suite. This property is already built and enjoys part ownership of the Roof with sea views. Being sold Freehold and Finished including bathrooms and doors. For viewing or more information contact one of our property consultants.

Features

En Suite

Passenger Lift

Double Glazed

Balcony

Roof Terrace

Rooms

Double Bedroom: 5.23 x 3.8 m (19.87 m2)

✓ Double Bedroom : 3.66 x 2.65 m (9.7 m2)

Double Bedroom: 3.66 x 4.76 m (17.42 m2)

Bathroom Ensuite: 1.52 x 1.66 m (2.52 m2)

Bathroom: 1.89 x 3.02 m (5.71 m2)

Hallway: 18.57 x 1.42 m (26.37 m2)

Kitchen/Living/Dining: 7.85 x 7.14 m (56.05 m2)

Open Space : 3.28 x 1.27 m (4.17 m2)

Open Space : 2.3 x 0.75 m (1.72 m2)

Open Space : 6.57 x 1.27 m (8.34 m2)

Gallery













RE/MAX Centerparc

RE/MAX Centerparc - Qormi

M: 27344344

E: cpq@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi
Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta